FEAADZERU12/X\2T v FR—ILVASTERIK TR

18 B HI3IF128268 (B) BEESFEFHS10 HBIREERES.30
2 = 5 LORMSHELE
I SNF—,L BF  XRAR4OF—A (KB, EH. . BF)
gF . E8F—A
4 KFKEBEE BELRL,
5F O 8 #HEEEROF—ARIBEDI"_Jx—AZ&EBL. XRIYFETO
FBICEN>THERIET D,
b5 DIJ—F~ (Bf) EJ—K (AOHED
ZF5 « ofiLREE ZF( » SILRTEE
=55 X B =1 | X ShkE)PSR| ZT/¥
930 13 — 10 EERET 6 — 13 X% FL
) [16—6] 6 Bith Bith [16—11] 37 FE 82
12 — 6 TO « MC 10 — 8 TO +MC
8 — 4 N8 16 — 5 =&
BFERE B FERES
N X = = B X =H =
1100 16 — O 8 ER 14 — 11 BEH
[27—2] 10 wH ES [11—8] 45 SkEPE
22 — 2 TO « MC 9 — 10 TO - MC
24 — © 1D8 6 — 16 1ES
TSRS ZF3 * ARLRTEE
NiB X B =¥ X SHE =¥
200 17 — 4 Az = 6 — 15 S
‘ 17 — 6 K= 6 — 12 R
‘o3 — 3! 29 Fo.mC 4 — 12’ 99 [To-mc
15 — 16 B=2H 4 — 16 B/
B IR BF3 « ANLRTES,
NiB X =H =¥ X =58 =¥
14:30 22 — 8 B8 f2— 2 — 12 t— F03
[20 — 4 ;30 P RIS 18 7 — 11 45 VR AR
24 — 8 TO + MC 3 — 14 TO - MC
16 — 10 N 6 — 8 B
X =¥ X =4
[ — ] TO - MC — ] TO - MC
X =¥ X =4
[ — ] TO - MC — ] TO - MC




